1
1
1
12 m2
12 m2
[A] = 2 1
[C]=1
1 m2 [D] = 3
[E] = 2
[Fl= 2
12 m2
[A] = 8
[B]1 =1 [C]=1
1 m2 [D] = 3
[E] = 2
(Rc- )2
12 m2




[A] = 10
[B] = 1 [C]=1
1 m2 [D] = 3
[E] = 2
Re- )
12 m2
[A] = 14
[B] = 1 [C]=1
1 m2 [D] = 3
[E] = 2
(Re- )
12 m2
[A] = 20
[B] = 1 [C]=1
1 m2 [D] = 3
[E] = 2
12 m2
37 kg
1
1




) [A]l = 1
[B] = 10.1m3 [C] = 0.001m3
1
4 m2
)
4 m2
1
15
) [A] = 6 Gp-Cp-28B
Gp-Cp-28B [B] = 1
1 [C]=1
)
7
[J11 =1 [32] = 2
1
7
) [Al= 2P
[B] = 3 2
1 [C] = 3
[D] = 4 100
[E] = 1
[F1= 1 [61= 0
1




( [A] = 2 ABC
ABC [B] = 1
0 [c]1= 1
( [A] = 1 ABC
ABC [B] = 1
0 [C]=1 [D] = 1
[E] = 2
1
(
16 m2
(
16 m2
[A] = 2 1
[C]=1
1 m2 [D] = 3
[E] = 2
[Fl1= 2
16 m2
[A] = 8
[B] = 1 [C]=1
1 m2 [D] = 3
[E] = 2
(Rc- )2
16 m2




[A] = 10
[B] = 1 [C]=1
1 m2 [D] = 3
[E] = 2
Re- )
16 m2
[A] = 14
[B] = 1 [C]=1
1 m2 [D] = 3
[E] = 2
(Re- )
16 m2
[A] = 20
[B] = 1 [C]=1
1 m2 [D] = 3
[E] = 2
16 m2
49 kg
56
1




m2

m2
= 2 1
=1
m2 = 3
= 2
= 2
m2
8
1 [C]=1
m2 3
2
(Rc-
m2
1
1 [C]=1
m2 3
2
(Re-
m2
[A] = 14
[B] = 1 [C]=1
m2 [D] = 3




(Re-

m2

m2

[cr=1

NWEF DN

m2

kg

1

1 0.1m3 [C] = 0.01m3

2 [B] =

1= 125
1= 0.008kg [D] = O.1lkg
1=1




[A]= 12 [B] = O
[C] = 0.5

1

1

6 m2

6 m2

1

1

20 m2
[A] = 2 [B] = 1
[Xc] = 3

1 m2

)

10 m2
[Al=1 [B] = 0.5
[C]= 2

1 m2
[Al=1 [B] = 0.5
[C]= 2

1 m2

)
20 m2




[A] =1 [B] = 0.5
[C] = 2

1 m2
[A] = 1 [B] = 0.5
[C] = 2

1 m2

1

Co
L=7.5km ()
0 m3
Co( [J1] = 1 Co( )

[J2] =1 [J3] = 1 DID

1 m3 [J4] = 10 7.5km
[Ji] =1

( ) L=20.0km

1

[J1] =1 2t 2t
2t 2t [J2] = 5 20.0km [J3] =10.1t

1

1

10
[B] = 2 B

1
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